
 

 

 



 

 

New Pattern Jumbled Sentences for SBI Clerk Pre 2018 

Jumbled Sentences Type 2 Quiz 2 

Directions: In the questions given below, a sentence has been broken down into four 

fragments labeled (A), (B), (C) and (D) and arranged, not necessarily in the correct order. You 

have to find the correct order of arrangement from the options given below. In case, the 

sentence is correct in its original form, please select (E) as your answer. 

Q. 1. with a group of top executives of the US aluminium (A) / and steel industries, suggesting that 

domestic steel (B) / and aluminium prices and profits were the prime considerations in arriving at 

the ­decision (C) / The announcement of the import tariffs came at a meeting (D) / 

A. DBAC 

B. DCBA 

C. DABC 

D. BCAD 

E. No rearrangement required 

______________________________________________________________________________ 

Q. 2. in Meghalaya, Nagaland and Tripura in (A)/ if there is one lesson the “mainland” must (B)/ 

draw from the ­recent assembly elections (C)/ north-east India, it is to avoid generalisations (D) 

A. CBAD 

B. BDAC 

C. BADC 

D. BCAD 

E. No rearrangement required 

______________________________________________________________________________ 

Q. 3. discredited itself before the public (A) / especially after the countdown to the (B) / assembly 

election began, is a major reason for its failure (C) / the manner in which the ruling party (D) / 

A. DABC 

B. DCBA 

C. CBAD 

D. BACD 

E. No rearrangement required 

______________________________________________________________________________ 

 



 

 

Q. 4. They users of the Public Distribution System (A)/ Nagri but their demand has fallen on deaf 

ears (B)/ study at the block and district headquarters of (C)/ have repeatedly protested against the 

DBT pilot (D)/  

A. ABCD 

B. ADCB 

C. DBCA 

D. ACBD 

E. No rearrangement required 

______________________________________________________________________________ 

Q. 5. centrally administered by a few companies (A) / beneficiaries and does not need biometric 

verification (B) / LPG usage is mostly urban and is (C) / through a fully computerised list of (D) /  

A. DABC 

B. CBDA 

C. CADB 

D. BCAD 

E. No rearrangement required 

______________________________________________________________________________ 

Q. 6. 2008, there are growing apprehensions that the current (A)/ ever since the Rashtriya 

Swasthya Bima Yojana was launched in (B)/ insurance-based access system only serves (C)/ as a 

means to use public money to fund private sector expansion (D) 

A. BACD 

B. BADC 

C. BDAC 

D. CABD 

E. No rearrangement required 

______________________________________________________________________________ 

Q. 7. Undergraduate degrees in public health should be (A) / meet the health challenges posed by 

rapid economic development (B) / promoted in order to have an optimum number of (C) / public 

health professionals who can successfully (D) /  

A. CBDA 

B. ACDB 

C. ADBC 



 

 

D. CABD 

E. No rearrangement required 

______________________________________________________________________________ 

Q. 8. of Rs 3,695 crore, there is a lot of furore in the industry (A) / fraudulent misuse of funds by 

RGPL to the tune (B) / following the detection of fraud amounting to Rs 11,400 crore (C) / in the 

Punjab National Bank and the default and (D) /  

A. CDBA 

B. CBAD 

C. ACDB 

D. CBAD 

E. No rearrangement required 

______________________________________________________________________________ 

Q. 9. The periodical reconciliation of Nostro Accounts (A)/ which are foreign currency 

denominated (B)/ accounts of Indian banks maintained in overseas (C)/ centres is supposed to be 

done from time to time (D) 

A. ADBC 

B. DBCA 

C. BCAD 

D. ABDC 

E. No rearrangement required 

______________________________________________________________________________ 

Q. 10. on 1 March to impose a 25% import tariff on steel (A)/ and a 10% import tariff on 

aluminium, both on grounds (B)/ United States President Donald Trump’s announcement (C)/ of 

“national security,” has been widely expected to provoke a trade war (D) 

A. CBAD 

B. DBAC 

C. CABD 

D. BCDA 

E. No rearrangement required 

______________________________________________________________________________ 

 



 

 

Correct Answers: 
 

1 2 3 4 5 

C D A B C 

6 7 8 9 10 

A B A E C 

 
Explanation: 

 

Q 1. Correct Answer: C 

 

The only valid first fragment is fragment C. 

D and A: 

D: The announcement of the import tariffs came at a meeting 

A: with a group of top executives of the US aluminium 

 

A and B: 

A: with a group of top executives of the US aluminium 

B: and steel industries, suggesting that domestic steel 

 

B and C: 

B: and steel industries, suggesting that domestic steel 

C: and aluminium prices and profits were the prime considerations in arriving at the decision 

 

The correct sequence is D-A-B-C. 

Hence, the correct option is C. 

_______________________________________________________________________________ 

 

Q. 2. Correct Answer: D 

 

The only valid first fragment is fragment B. 

B and C: 

B: If there is one lesson the “mainland” must 

C: draw from the ­recent assembly elections 

 



 

 

C and A: 

C: draw from the ­recent assembly elections 

A: in Meghalaya, Nagaland and Tripura in 

 

A and D: 

A: in Meghalaya, Nagaland and Tripura in 

D: north-east India, it is to avoid generalisations 

 

The correct sequence is B-C-A-D.  

Hence, the correct option is D. 

_______________________________________________________________________________ 

 

Q. 3. Correct Answer: A 
 

The only valid first fragment is fragment D. 

D and A: 

D: The manner in which the ruling party 

A: discredited itself before the public 

 

A and B: 

A: discredited itself before the public 

B: especially after the countdown to the 

 

B and C: 

B: especially after the countdown to the 

C: assembly election began, is a major reason for its failure 

 

The correct sequence is D-A-B-C 

 

Hence, the correct option is A. 

_______________________________________________________________________________ 



 

 

Q. 4. Correct Answer: B 

 

The only valid first fragment is fragment A. 

A and D: 

A: They users of the Public Distribution System 

D: have repeatedly protested against the DBT pilot 

 

D and C: 

D: have repeatedly protested against the DBT pilot 

C: study at the block and district headquarters of 

 

C and B: 

C: study at the block and district headquarters of 

B: Nagri but their demand has fallen on deaf ears 

 

The correct sequence is A-D-C-B. 

Hence, the correct option is B. 

_______________________________________________________________________________ 

Q. 5. Correct Answer: C 

 

The only valid first fragment is fragment C. 

C and A: 

C: LPG usage is mostly urban and is 

A: centrally administered by a few companies 

 

A and D: 

A: centrally administered by a few companies 

D: through a fully computerised list of 

 

D and B: 

D: through a fully computerised list of 

B: beneficiaries and does not need biometric verification 

 

The correct sequence is C-A-D-B. 



 

 

Hence, the correct option is C. 

_______________________________________________________________________________ 

Q. 6. Correct Answer: A 

 

The only valid first fragment is fragment B. 

B and A: 

B: Ever since the Rashtriya Swasthya Bima Yojana was launched in 

A: 2008, there are growing apprehensions that the current 

 

A and C: 

A: 2008, there are growing apprehensions that the current 

C: insurance-based access system only serves 

 

C and D: 

C: insurance-based access system only serves 

D: as a means to use public money to fund private sector expansion 

 

The correct sequence is B-A-C-D. 

Hence, the correct option is A. 

_______________________________________________________________________________ 

Q. 7. Correct Answer: B 

 

The only valid first fragment is fragment A. 

A and C: 

A: Undergraduate degrees in public health should be 

C: promoted in order to have an optimum number of 

 

C and D: 

C: promoted in order to have an optimum number of 

D: public health professionals who can successfully 

 

D and B: 

D: public health professionals who can successfully 



 

 

B: meet the health challenges posed by rapid economic development 

 

The correct sequence is A-C-D-B.  

Hence, the correct option is B. 

_______________________________________________________________________________ 

Q. 8. Correct Answer: A 

 

The only valid first fragment is fragment C. 

C and D: 

C: Following the detection of fraud amounting to Rs 11,400 crore 

D: in the Punjab National Bank and the default and 

 

D and B: 

D: in the Punjab National Bank and the default and 

B: fraudulent misuse of funds by RGPL to the tune 

 

B and A: 

B: fraudulent misuse of funds by RGPL to the tune 

A: of Rs 3,695 crore, there is a lot of furore in the industry 

 

The correct sequence is C-D-B-A.  

Hence, the correct option is A. 

_______________________________________________________________________________ 

Q. 9. Correct Answer: E 

All the fragments are already arranged logically and need no rearrangement. 

Hence, option E is correct. 

_______________________________________________________________________________ 

Q. 10. Correct Answer: C 

The only valid first fragment is fragment C. 



 

 

C and A: 

C: United States President Donald Trump’s announcement 

A: on 1 March to impose a 25% import tariff on steel 

 

A and B: 

A: on 1 March to impose a 25% import tariff on steel 

B: and a 10% import tariff on aluminium, both on grounds 

 

B and D: 

B: and a 10% import tariff on aluminium, both on grounds 

D: of “national security,” has been widely expected to provoke a trade war 

 

The correct sequence is C-A-B-D. 

Hence, the correct option is C. 
 



 

 

 


